Example

The two sections of the
bridge can be rotated

upward through an angle
of 35 degrees.

a) If the water level is 15 ft
below the closed bridge,
find the distance d.

a) the distance d is 58. 018 ft. - SN3d3S = X
b) Approximately how far 35 < 25 :_:’25
apart are the ends of Uz, 02 =
the sections when the I = R
bridge is fully opened. 2%.0l5
b) the sections are approx.
27.127 ft apart. Cos325= & 130
c) Why are théese. 7S — ZC@"%‘E)_

2500535 = G 26128 d

measurements important?
Co le D00 =0
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The length of the slide is
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